Instructor: Dr. R.A.G. Seely

Equations Involving Radicals

Solve the following equations
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3.
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25.

V=26
Vr—1=0

V2z =8

3yx =12
—2yr+14=0
4/r = —1
V3z+6=0

64 —4y/x =0
V=3z =3
V3r+1=4

V3 -2 =2
VaZ—2=x+4
Vr+3=+2z-1
V3r+1=+z+15
V3T =53z =0
2/ —+2x+10=0
V2r=x—4
r+2=8r+1
Ve+2=zx
3=x—2x
V3r+T7-3=x
Vi—122 -6 =22
r=+v3-xz+1
VitT-5=2

x =z +44 -2
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Answers
1. 36
2.1

3. 32

4. 16

5. 49

6. No solution.

7. No solution.

8. 256

9. -3

10. 5

11. —

D=

12. —

=]

13.
14.

SN

15. —

oot

16. 5

17. 8

18. 1,3
19. 4

20. 9

21. —1,-2
22. —1
23. 2

24. —3
25. 5

Practice Assignment 7a



